


EXPLODED VIEW:  EV 999 FUEL SYSTEM 

DRAWING #: A0000221290  GROUP    EV 

 
ITEM PART# QTY. DESCRIPTION 

REVISION: CN-0038381-C  Page 2 of 2 

DATE: 7/27/2020 

 1 10000001063 1 ASSY AIRBOX HSB V-TWIN 2016 
 2 A0000292579 1 CVR AIRBOX GTH999 G-FORCE (GENERAC) 
  10000000254 1 CVR AIRBOX HSB 2016 GTH999 (UNBRANDED) 
 3 0L3734 1 SNORKEL ELBOW TO AIRBOX 
 4 0J6878 1 SNORKEL ENGINE AIR INTAKE 
 5 0J8478 1 FILTER ELEMENT 236 X 139 X 37 
 6 0L6733B 1 ASSY REGULATOR 3/4” INLET (20-24KW) 
  0L6733A 1 ASSY REGULATOR 1/2” INLET (15KW ECOGEN) 
      A 0F4795 4 SCREW PPHM M4-0.7 X 10 SEMS 
      B 0J7137 1 SOLENOID SHUTOFF VALVE 
      C 0J8315A 1 ASSY SOLEN PLUNGER & SPRING 
      D 0C4647 1 GASKET SOLENOID 
 7 0L6775 1 ASSY MIXER 20KW HSB 2016 (20KW) 
  0L3090 1 ASSY MIXER 22KW-RH HSB (22KW) 
  10000030760 1 ASSY MIXER 15KW ECOGEN 2018 (15KW ECOGEN) 
  10000012543 1 ASSY MIXER 14 X 30 W/EC (24KW) 
 8 0D4417 4 WASHER, RUBBER 1/4" X 1/8" THK 
 9 048031M 4 CLAMP HOSE BAND .75 
 10 0C8566 2 SCREW HHFC M6-1.0 X 20 G8.8 
 11 0G7717 3 SCREW HH HI-LO M6.2X10MM 
 12 0K0913 4 SCREW SHC M6-1.0 X 16 LG SEMS 
 13 0K8830B 2 HOSE LP NG 1/2" ID 24" L 
 14 0K0904 2 SCREW SHLDR (8MM) M6-1.0 X 29 
 
 
 


